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e Question No. 1 is compulsory.

Answer any thre
Assume suitable data if necessary

e from the remaining five questions. £
and justify the same.
Answer any FOUR of the following 20

What is the significance of asymptotes in root locus plot? ‘ i
Explain the difference between open loop and cbsed loop control'system. - ol
Find how many poles aré in the LHS, RHSand on the‘i‘magirj'ary axis of s-plane of

the given system. ; : : . N
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Explain gain crossover fr,eque'ncy,'bhésel crdl\sééxieﬁr,,,‘fr"caque_ncy, gain margin and
phase margin in frequency response technique.: . OE S S
Find the transfer function, G(s) = Xa(s) / F(‘s)'ifpri\ciroﬂit"shown below
.\l(f) ‘ :
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Frictionless
»
a. -~ Obtain the cascade, paraliel and ‘phase-Variable form representation of state 10
" space and signal flow graph for the system having.
' ATRESE:
GO =T DG +DET)
e 10

ng unity feedback system, using Routh Hurwitz criteria determine th
1d the value of K for the system response

b For the follow
of oscillations.

__ range of K to ensure stability. What shou
to oscillate, and determine the frequency

‘ K(s +3
G(s) = ________g_.__-—?—--—'—"
s(s+D(s+ s+

page10of 3

A6F5D93FOCSCFDF3A3CB9DC4402330A8



TLE. (Blechtia)) Sem ~1
Cowntro] Sydtern-p 20)s 1P

Q3

Q.4

b.  Reduce the block diagram shown below fo':
function, G(s) = C(s)/R(s) P

G1(s)ie

R(s) + oos) +

A

Y

G3(s)

G4(s)

G7(5)|=

a. Draw Bode log magnltude and phase pIcts
PM GM and comment

3| netwaork showr) below, f
across capacitor

fnd a state-space representation if the

ix(® R
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Draw root locus and find the location of the clesed, taqp domi
is operating with 15% overshoot. Also determine ’vaILe

overshoot.
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